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Ziehung vom 06.12.2022

Haupttreffer in

T 3 1 3 K

Ziehung vom 06.12.2022

* erwartet pro Gewinner

CHF 250'000.00
8.   T 3 _ _ _ /  _ _ _ 3 K 1'565 10.20
9.   T _ _ _ _ /  _ _ _ _ K 14'836 4.15

4.   T 3 1 3 _ /  _ 3 1 3 K 13 1'324.60

5.   T 3 _ _ K / T _ _ 3 K 51 289.40

Hauptgewinn:*
6.   T 3 1 _ _ /  _ _ 1 3 K 174 46.00
7.   T _ _ _ K 249 22.25

Gewinnränge Anzahl Gewinner CHF

1.   T 3 1 3 K 0 0.00
2.   T 3 _ 3 K 2 7'379.80
3.   T 3 1 _ K / T _ 1 3 K 5 2'459.95

CHF 17'000'000.00
1 + 123'593 16.70

2 +

1'447'771 7.252
576'321 11.30

8.12

5.49

3.52

65.41

34.19

3 +
24'294 33.80

Jackpot:

2 + 

41'422 22.10
3 104'275 16.35

16.43

10.75

7.95

Gewinnzahlen & Quoten

5 + 5 158'377.50

5 + 1 141'189'257.10

Gewinnränge Anzahl Gewinner CHF

Belgien 160'293.32

0 0 0.00 0.00

€

142'897'164.00

5 4 46'269.3046'828.99
4 + 61 1'967.95
4 + 902 245.15

956.46

119.15
3 + 1'737 134.60
4 2'335 70.35

3 6'071 62.40

5 6 34 35 48

5 0 0.00
4 109 950.00

Gewinnzahlen und Quoten
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